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1. Choose the correct answer :
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Which of the following is a linear function -

(a) y=x*+2x+3

(b) y=2x+y
1

(c) Y X

g yexil
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() y=x*+2x+3
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If x = — 2, find the value of y for the equation
2x+3y=35
1
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S GBI 2x+3y=5H x=—28& & y & HF &r -

If p=15 in the demand function 50D =40 — p then
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find the value of demand -

T % S0D =40 — ¥ A p=15% & |07 = el
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(d) 10
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The methods of data collection are -
(@) Primary

(b) Secondary

(c) Both

(d) None

(31) e

(@) f&dmes

(@), a0

(&) ®d 7

Which one of the following can not be calculated

_with the hlep of graph -
(@) Mean
(b) Mediam
(¢) Mode

(d) Quartile

(4) H
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What is the Geometric mean of 4,8.16,32 & 64
(a) 8 '
(b) 16
(c) 32
(d) 64
4,8,16,32 % 64 &1 oI A1 @ -
(a1) 8
(@) 16
(@) 32
(z) o4
In variance is 144 then standard deviation will be -
@@ 12
(b) 44
(c) 6
(& 72
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The problem in the construction of Index numberis - .

(a) Selection of base year
(b)Y Choice of prices

(c) Quantity

(d)  All of the above
QEFE & Fme & T 2 -
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Karl Pearson's coefficient of correlation is always -
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Two regression lines cross at the point -
@ (%)

(b (@D

(¢) (0,0

(d) None of these
1y Y e o g -
(&) (x.y)
(@) (1, 1)
(@) (0,0
(z) 37 Q4 #R T
gug - ‘q’
SECTION - 'I¥!
oy Iadg 097

Short Answer Type Questions

Onhinebu.com

woangatjud

woangaulju)

2. Explain function.

T U9 |

Explain variable.

Ve @ |
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3. Discuss Histogram with example.
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Distinguish between primary and secondary data.
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Explain the meaning and importance of correlation.
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Write five importance of time series analysis.
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5. Discuss the ditference between correlation and regression
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analysis in brief.
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Describe the method of sampling.
wesl &t R @ av #X )

SqI/OR
[f demantd function is D = p*— 70 and supply function is

FII/OR S = 50 + 2p then find the value of equilibrium price and
Write the importance of index no. quantity.
g R g R S | A A wwt D = p? - 70 AR 9w S =50+ 2p @ Al
Unit -V = S e T 3R AR S A | |
@ - V 2 2 Unit - I
6. Explain conditional Probability. % g < - 11
SEESK R , 8 Discuss the relative merits and demerits of mean, median
HE/OR ! andd mode.
Discuss in brief about economic Research, He, Witad Ud 9gad b qniEE or o - o
it s o i @wem SETOR
ws - W Find the mean value for the following series :-
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Long Answer Type Questions
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geieme Reaner 3 St R | siwme Y@y & 9t endt € 7

Marl;::.l?;?med 0-10]10-20|20-30 | 30-40 | 40-50 - 3 2w w5 & ST Yar @ wdt 39
No.of Students | 10 12 20 18 [0 _ FYI/OR
oA G Find the Fisher's ideal Index No. from the following table :-
| Unit - ITI e gl & BRI 1 IR eSS -
g - I | Commodity [ 5 () B (3) _ C (%)

9. What is the difference between association of attributes b\ 7 i | o g | om 17 T
and cjor.reiatian and discuss the mathods of determining Vear price | Quantity | Price | Quantty | Price | Quanity
associatton.

o wEEEe q T e i ot R d o e et o Of Bascyear | 3 10 3 6 ¢ ’
P R § Ty | o o ad

SI9a1/OR g E‘Current year| 4 12 7 7 5 4
Find the cocflicient of correlation from the following series :- %r Eqﬁqﬁ a9 N
forer aoft & W § mEEEY TPllE S ST - - = Unit - V
(1718 19 [20] 21 22]23[24]25]26 @ -V
y | 38 37 58**3? 32 133342912623 B(Explain the meaning and types of hypathesis.
Unit - 1V qReeqT ot a@ W S |
g - 1V , - FEIOR

10. Piscuss the objectives of regression analysis. Why there 4"“0 shott note on-any two of the following -

e are two regression lines. Under which condition there may Frer 7 el <)y e feeft fored -
be only one regression line.
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(a) Objectives of Research Report
/oA & R
(b) Schedule

A

(¢) Mutually Exclusive Events

qRERE AT T
(d)/Probability
o
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